Installation manual

Montageanleitung e Notice de montage e Istruzioni per il montaggio
Manual de montaje e Monteringsanvisning e Installatiegids

Log cabin FRG44-4735

Blockhaus e Maisonnette en poutres e Casa di travi e Casa de jardin e Anneks e Tuinhuis

Width 470 x Depth 350 cm
Breite/Tiefe o Largeur/Profondeur e Lunghezza/Profondita e Ancho/Profundidad e Bredde/Dybde e Breedte/Diepte

Log thickness 44 mm
Bohlenstarke o Epaisseur des murs e Spessore delle pareti ® Grosor de pared o Tykkelse ® Wanddikte

The producer shall have the right to make technical changes to the product ¢ Technische Anderungen vorbehalten o Le
producteur réserve le droit d’effectuer des modifications techniques au produit e Il produttore mantiene il diritto di apportare
modifiche tecniche al prodotto e Reservado el derecho a modificaciones técnicas e Produsent forbeholder seg retten til & endre
tekniske egenskaper ved produktet e Alle rechten en technische wijzigingen voorbehouden



Pos SPECIFICATION-STUCKLISTE-NOMENCLATURE-ELEMENTI-ESPECIFICATION Pes Profile | Length
"FRGLL-4T35" (mm) (mm)
001 o Lz 2 1| &4x5T | 4700
002 Ch i Y 18| Lbx1h | 4700
003 &y He o, 2| bhxth | 4900
0t | § 2| bhxtih | 957
005 0 8 LbxNk 691
06 | § —— 2| bhxtih | 957
007 & 1% . 2 | L4xST | 1540
008 8 % 10| Ghxtth | 1540
009 » _n 22| bhx1h | 530
010 ] 22 L x1k 305
011 G 2 S 36 | bhxte | 3500
012 i n e 2 | 4hxtte | 3600
——h—
2C H - 0
WA-1 H 3 1
3900
——h—
ok : 015 o
WB-1 T - S —— L
Foundafion- Fundament- Fendafion- Fendaziene- Vigas de cimenfacion
AR1 1 T0x45 4490
Covering board- Deckbreft- Madrier de couverfure- Tavola di coperfura- Tiston de cubierfa
CoB1 1 19x120 4940
Covering board- Deckbreff- Madrier de couverfure- Tavola di coperfura- Tisfon de cubierfa
(oB2 . ] 2 19x95 4940
Raffer- Sparre- Chevron- Trave- Cabrie
RoR1 | ] 5 LLx140 3917
Raffer- Sparre- Chevron- Trave- Cabrio
RoR2 ] L Lbx140 200
FB-1 Floor boar@— Fussbodenbrett- Madrier du plancher - ——— 50 89519 3205
Tavola pavimento- Tabla de suelo
RB2-1 | Roof board- Dachbrett- Madrier du toif- Tavola - L 89x19 980
B e
RBZ-7 | tetto- Tabla de tejado == HEEEREL
FaBb-t Facia board- Giebelblejde— Ecran frontal- Schermo L 195 3920
frontone- Tabla de facia
FIB7-1 Floor beadir?g— Fussbo.denleisfe.— B?gueffe du 2 ] 1910 2204
plancher- Listello pavimento- Liston de suelo
Roof edge reinforcement- Bachrandleiste- Baguette 7777
RE2-1 %% 2| 3k0 | 3210
en bordure du foif- Rinforzo borde tetto- Refuerzo borde fejado A *
QTihe | Seal- Gummidichtung- Joint d'isolation- Guarnizone-
gSnInFiﬁ Bislefeumml ichtung- Joint d'isolation- Guarnizone «'O ) A1 3700
ﬂ {} Object name "FRG44-4735" Page 1/3



AutoCAD SHX Text
A44-81

AutoCAD SHX Text
Object name

AutoCAD SHX Text
Page

AutoCAD SHX Text
"FRG44-4735"

AutoCAD SHX Text
1/3

AutoCAD SHX Text
Pos

AutoCAD SHX Text
SPECIFICATION-STÜCKLISTE-NOMENCLATURE-ELEMENTI-ESPECIFICATIÓN

AutoCAD SHX Text
"FRG44-4735"

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
001

AutoCAD SHX Text
1

AutoCAD SHX Text
44x57

AutoCAD SHX Text
4700

AutoCAD SHX Text
100

AutoCAD SHX Text
4412

AutoCAD SHX Text
100

AutoCAD SHX Text
002

AutoCAD SHX Text
18

AutoCAD SHX Text
44x114

AutoCAD SHX Text
4700

AutoCAD SHX Text
100

AutoCAD SHX Text
4412

AutoCAD SHX Text
100

AutoCAD SHX Text
003

AutoCAD SHX Text
2

AutoCAD SHX Text
44x114

AutoCAD SHX Text
4900

AutoCAD SHX Text
200

AutoCAD SHX Text
4412

AutoCAD SHX Text
200

AutoCAD SHX Text
004

AutoCAD SHX Text
2

AutoCAD SHX Text
44x114

AutoCAD SHX Text
957

AutoCAD SHX Text
200

AutoCAD SHX Text
713

AutoCAD SHX Text
005

AutoCAD SHX Text
8

AutoCAD SHX Text
44x114

AutoCAD SHX Text
691

AutoCAD SHX Text
006

AutoCAD SHX Text
2

AutoCAD SHX Text
44x114

AutoCAD SHX Text
957

AutoCAD SHX Text
713

AutoCAD SHX Text
200

AutoCAD SHX Text
007

AutoCAD SHX Text
2

AutoCAD SHX Text
44x57

AutoCAD SHX Text
1540

AutoCAD SHX Text
100

AutoCAD SHX Text
1396

AutoCAD SHX Text
008

AutoCAD SHX Text
10

AutoCAD SHX Text
44x114

AutoCAD SHX Text
1540

AutoCAD SHX Text
100

AutoCAD SHX Text
1396

AutoCAD SHX Text
009

AutoCAD SHX Text
22

AutoCAD SHX Text
44x114

AutoCAD SHX Text
530

AutoCAD SHX Text
386

AutoCAD SHX Text
100

AutoCAD SHX Text
010

AutoCAD SHX Text
22

AutoCAD SHX Text
44x114

AutoCAD SHX Text
305

AutoCAD SHX Text
011

AutoCAD SHX Text
34

AutoCAD SHX Text
44x114

AutoCAD SHX Text
3500

AutoCAD SHX Text
100

AutoCAD SHX Text
3212

AutoCAD SHX Text
100

AutoCAD SHX Text
012

AutoCAD SHX Text
2

AutoCAD SHX Text
44x114

AutoCAD SHX Text
3600

AutoCAD SHX Text
100

AutoCAD SHX Text
3212

AutoCAD SHX Text
200

AutoCAD SHX Text
WA-1

AutoCAD SHX Text
1

AutoCAD SHX Text
013

AutoCAD SHX Text
014

AutoCAD SHX Text
015

AutoCAD SHX Text
3900

AutoCAD SHX Text
319

AutoCAD SHX Text
WB-1

AutoCAD SHX Text
1

AutoCAD SHX Text
013

AutoCAD SHX Text
014

AutoCAD SHX Text
015

AutoCAD SHX Text
3900

AutoCAD SHX Text
319

AutoCAD SHX Text
AR1

AutoCAD SHX Text
7

AutoCAD SHX Text
70x45

AutoCAD SHX Text
4490

AutoCAD SHX Text
Foundation- Fundament- Fondation- Fondazione- Vigas de cimentación

AutoCAD SHX Text
CoB1

AutoCAD SHX Text
1

AutoCAD SHX Text
19x120

AutoCAD SHX Text
4940

AutoCAD SHX Text
Covering board- Deckbrett- Madrier de couverture- Tavola di copertura- Listón de cubierta

AutoCAD SHX Text
CoB2

AutoCAD SHX Text
2

AutoCAD SHX Text
19x95

AutoCAD SHX Text
4940

AutoCAD SHX Text
Covering board- Deckbrett- Madrier de couverture- Tavola di copertura- Listón de cubierta

AutoCAD SHX Text
RoR1

AutoCAD SHX Text
5

AutoCAD SHX Text
44x140

AutoCAD SHX Text
3917

AutoCAD SHX Text
Rafter- Sparre- Chevron- Trave- Cabrio

AutoCAD SHX Text
RoR2

AutoCAD SHX Text
4

AutoCAD SHX Text
44x140

AutoCAD SHX Text
200

AutoCAD SHX Text
Rafter- Sparre- Chevron- Trave- Cabrio

AutoCAD SHX Text
FB2-1

AutoCAD SHX Text
Floor board- Fussbodenbrett- Madrier du plancher -

AutoCAD SHX Text
Tavola pavimento- Tabla de suelo

AutoCAD SHX Text
50

AutoCAD SHX Text
89x19

AutoCAD SHX Text
3205

AutoCAD SHX Text
RB2-1

AutoCAD SHX Text
Roof board- Dachbrett- Madrier du toit- Tavola

AutoCAD SHX Text
tetto- Tabla de tejado

AutoCAD SHX Text
44

AutoCAD SHX Text
89x19

AutoCAD SHX Text
980

AutoCAD SHX Text
FaB6-1

AutoCAD SHX Text
Facia board- Giebelblende- Écran frontal- Schermo

AutoCAD SHX Text
frontone- Tabla de facia

AutoCAD SHX Text
4

AutoCAD SHX Text
19x95

AutoCAD SHX Text
3920

AutoCAD SHX Text
FlB2-1

AutoCAD SHX Text
Floor beading- Fussbodenleiste- Baguette du

AutoCAD SHX Text
plancher- Listello pavimento- Listón de suelo

AutoCAD SHX Text
7

AutoCAD SHX Text
19x19

AutoCAD SHX Text
2244

AutoCAD SHX Text
RE2-1

AutoCAD SHX Text
Roof edge reinforcement- Dachrandleiste- Baguette

AutoCAD SHX Text
en bordure du toit- Rinforzo bordo tetto- Refuerzo borde tejado

AutoCAD SHX Text
2

AutoCAD SHX Text
32x40

AutoCAD SHX Text
3210

AutoCAD SHX Text
QTihe

AutoCAD SHX Text
ndTPE

AutoCAD SHX Text
8mm-1

AutoCAD SHX Text
Seal- Gummidichtung- Joint d'isolation- Guarnizone-

AutoCAD SHX Text
Burlete

AutoCAD SHX Text
2

AutoCAD SHX Text
3700

AutoCAD SHX Text
RB2-2

AutoCAD SHX Text
44

AutoCAD SHX Text
89x19

AutoCAD SHX Text
3920


Pos SPECIFICATION-STUCKLISTE-NOMENCLATURE-ELEMENTI-ESPECIFICATION Pes Profile | Length
"FRGLL-4T35" (mm) (mm)
ATihe | Seal- Gummidichtung- Joint d'isolation- Guarnizone-
dTPE 1| TULL-8IR | 5500
Qmm-z Burlefe “O
Sla10-1| Slat- Leiste- Baguette- Listello- Liston _— 1 19x45 1620
Storm brace- Sturmleiste- Protection contre le
StB1-1 2 25x45 2050
venf- Antivento- Protector contra tormentas *
Sterm brace- Sturmleiste- Protection contre le
StB1-2 2 25x45 2250
venf- Antivento- Protector contra tormentas *
_ -Fixing kit- Befestigungsset- Moyens de fixation- %
F 1 USE
™| Materiale di fissaggio- Kit de fijacion \’
apup | Bolt -Schloss-schraube -Boulon- Bullone- Perno-
(i:lHMHIHHHB 8 | StBI-
0860 | Mgx80mn PUPO "
%g'lﬁky Cylinder- Zylinderschloss- Serrure a mortaiser- @% o ruieser
30/35 | Serratura a cilindro- Bombin- 30.35
QULKat | Door fittings- Turbeschlag- Ferrure- Ferramenta
' 5 1] TULL-8R
eHOBEk | porta- Manilla puerta- QULKateHOBEK ~\N
QuULLi | Door fittings- Tirbeschlag- Ferrure- Ferramenta @ o tusessr
nkHOBE | porta- Manilla puerta- QULLinkHOBE
QServa - Schli - - Lamiera-
iy Keeper- Schliessblech- Tole- Lamiera- Aldaba de 1 TusssR
astus120| candado
A | Nal- Nagel- Clou- Chiodo- Clavo- 14xt0mn - L0 | FIB2-H
ONAL | Nail- Nagel- Clou- Chiodo- Clavo- 25x50mm —_— 380 | FB2-1
MRS | Nail- Nagel- Clou- Chiodo- Clavo- 3x70nm —_— 450 | RB2-1
QMU8 | Nut- Schraubenmutter- Ecrou- Dado- Tuerca- M8mm © 8 Q:mmmmnn
UKL | Screw- Schraube- Vis- Vite- Tornillo- 25x16mn — ) | =
)%Fg\l Screw- Schraube- Vis- Vite- Tornillo- 3x20mm P— 28 | TULL-81R: AkL-81
A¥® 0 | Screw- Schraube- Vis- Vite- Tornillo- 4 5x50mm P 120 | CoBy; Fabx, REZ-1..
Xt | Screw- Schraube- Vis- Vite- Torillo- & 5x70mm NI 20 | 001; 00 006; 007
QR | Screw- Schraube- Vis- Vite- Tornillo- 5x90mn = 24 | TUbL-8TR; 005, 004
QUREX | Screw- Schraube- Vis- Vite- Tornillo- 6x120mm = 8 | RoR2+Wall
QR | Screw- Schraube- Vis- Vite- Tornillo- 6x180mm = S 10 | RoRtWall
0SEBX22 Washer- Dichtscheibe- Joint- Rondella- Arandela- > g :I
8x2Zmm
QALp | Window fittings- Fenstergriff- Poigne de la _P e
ainP | fenétre- Maniglia finestra- Manilla- QALpainP U9
QALp | Window fittings- Fenstergriff- Poigne de la N 9 1 asses
ainV | fengtre- Maniglia finestra- Manilla- QALpainV h
QAF? | Window stop- Fensterfeststelle- Crémaillere- 3 2 | auis
35— 5 5 5 9 -
L0Zn | Fissative finestra- Fijador de ventana- QAF240Zn
o © Object name "FRGL4L-4T735" Page 2/3



AutoCAD SHX Text
TU44-81R

AutoCAD SHX Text
USE

AutoCAD SHX Text
StB1-x

AutoCAD SHX Text
TU44-81R

AutoCAD SHX Text
TU44-81R

AutoCAD SHX Text
TU44-81R

AutoCAD SHX Text
TU44-81R

AutoCAD SHX Text
FlB2-1

AutoCAD SHX Text
FB2-1

AutoCAD SHX Text
RB2-1

AutoCAD SHX Text
TU44-81R; A44-81

AutoCAD SHX Text
CoBx; FaBx; RE2-1;...

AutoCAD SHX Text
001; 004; 006; 007

AutoCAD SHX Text
TU44-81R; 005; 004

AutoCAD SHX Text
RoR2+Wall

AutoCAD SHX Text
RoR1+Wall

AutoCAD SHX Text
A44-81

AutoCAD SHX Text
A44-81

AutoCAD SHX Text
A44-81

AutoCAD SHX Text
Object name

AutoCAD SHX Text
Page

AutoCAD SHX Text
"FRG44-4735"

AutoCAD SHX Text
2/3

AutoCAD SHX Text
Pos

AutoCAD SHX Text
SPECIFICATION-STÜCKLISTE-NOMENCLATURE-ELEMENTI-ESPECIFICATIÓN

AutoCAD SHX Text
"FRG44-4735"

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
QTihe

AutoCAD SHX Text
ndTPE

AutoCAD SHX Text
8mm-2

AutoCAD SHX Text
Seal- Gummidichtung- Joint d'isolation- Guarnizone-

AutoCAD SHX Text
Burlete

AutoCAD SHX Text
1

AutoCAD SHX Text
5500

AutoCAD SHX Text
Sla10-1

AutoCAD SHX Text
Slat- Leiste- Baguette- Listello- Listón

AutoCAD SHX Text
1

AutoCAD SHX Text
19x45

AutoCAD SHX Text
1620

AutoCAD SHX Text
StB1-1

AutoCAD SHX Text
Storm brace- Sturmleiste- Protection contre le

AutoCAD SHX Text
vent- Antivento- Protector contra tormentas

AutoCAD SHX Text
2

AutoCAD SHX Text
25x45

AutoCAD SHX Text
2050

AutoCAD SHX Text
StB1-2

AutoCAD SHX Text
Storm brace- Sturmleiste- Protection contre le

AutoCAD SHX Text
vent- Antivento- Protector contra tormentas

AutoCAD SHX Text
2

AutoCAD SHX Text
25x45

AutoCAD SHX Text
2250

AutoCAD SHX Text
Fim

AutoCAD SHX Text
-Fixing kit- Befestigungsset- Moyens de fixation-

AutoCAD SHX Text
Materiale di fissaggio- Kit de fijación

AutoCAD SHX Text
1

AutoCAD SHX Text
QPUP

AutoCAD SHX Text
O8x80

AutoCAD SHX Text
Bolt -Schloss-schraube -Boulon- Bullone- Perno-

AutoCAD SHX Text
M8x80mm PUPO

AutoCAD SHX Text
8

AutoCAD SHX Text
QULSy

AutoCAD SHX Text
damik

AutoCAD SHX Text
30/35

AutoCAD SHX Text
Cylinder- Zylinderschloss- Serrure a mortaiser-

AutoCAD SHX Text
Serratura a cilindro- Bombin- 30.35

AutoCAD SHX Text
1

AutoCAD SHX Text
QULKat

AutoCAD SHX Text
eHOBEk

AutoCAD SHX Text
Door fittings- Türbeschlag- Ferrure- Ferramenta

AutoCAD SHX Text
porta- Manilla puerta- QULKateHOBEk

AutoCAD SHX Text
1

AutoCAD SHX Text
QULli

AutoCAD SHX Text
nkHOBE

AutoCAD SHX Text
Door fittings- Türbeschlag- Ferrure- Ferramenta

AutoCAD SHX Text
porta- Manilla puerta- QULlinkHOBE

AutoCAD SHX Text
1

AutoCAD SHX Text
QServa

AutoCAD SHX Text
riiviv

AutoCAD SHX Text
astus120

AutoCAD SHX Text
Keeper- Schliessblech- Tole- Lamiera- Aldaba de

AutoCAD SHX Text
candado

AutoCAD SHX Text
1

AutoCAD SHX Text
QNA1_

AutoCAD SHX Text
4x40M

AutoCAD SHX Text
Nail- Nagel- Clou- Chiodo- Clavo- 1.4x40mm

AutoCAD SHX Text
40

AutoCAD SHX Text
QNA2_

AutoCAD SHX Text
2x50Zn

AutoCAD SHX Text
Nail- Nagel- Clou- Chiodo- Clavo- 2.5x50mm

AutoCAD SHX Text
380

AutoCAD SHX Text
QNA3

AutoCAD SHX Text
x70ZN

AutoCAD SHX Text
Nail- Nagel- Clou- Chiodo- Clavo- 3x70mm

AutoCAD SHX Text
450

AutoCAD SHX Text
QMU8

AutoCAD SHX Text
Nut- Schraubenmutter- Écrou- Dado- Tuerca- M8mm

AutoCAD SHX Text
8

AutoCAD SHX Text
QKR2_5

AutoCAD SHX Text
x16kZN

AutoCAD SHX Text
Screw- Schraube- Vis- Vite- Tornillo- 2.5x16mm

AutoCAD SHX Text
2

AutoCAD SHX Text
QKR3

AutoCAD SHX Text
x20ZN

AutoCAD SHX Text
Screw- Schraube- Vis- Vite- Tornillo- 3x20mm

AutoCAD SHX Text
28

AutoCAD SHX Text
QKR4_

AutoCAD SHX Text
5x50ZN

AutoCAD SHX Text
Screw- Schraube- Vis- Vite- Tornillo- 4.5x50mm

AutoCAD SHX Text
120

AutoCAD SHX Text
QKR4_

AutoCAD SHX Text
5x70ZN

AutoCAD SHX Text
Screw- Schraube- Vis- Vite- Tornillo- 4.5x70mm

AutoCAD SHX Text
20

AutoCAD SHX Text
QKR5

AutoCAD SHX Text
x90ZN

AutoCAD SHX Text
Screw- Schraube- Vis- Vite- Tornillo- 5x90mm

AutoCAD SHX Text
24

AutoCAD SHX Text
QKR6x

AutoCAD SHX Text
120ZN

AutoCAD SHX Text
Screw- Schraube- Vis- Vite- Tornillo- 6x120mm

AutoCAD SHX Text
8

AutoCAD SHX Text
QKR6x

AutoCAD SHX Text
180ZN

AutoCAD SHX Text
Screw- Schraube- Vis- Vite- Tornillo- 6x180mm

AutoCAD SHX Text
10

AutoCAD SHX Text
QSE8x22

AutoCAD SHX Text
Washer- Dichtscheibe- Joint- Rondella- Arandela-

AutoCAD SHX Text
8x22mm

AutoCAD SHX Text
8

AutoCAD SHX Text
QALp

AutoCAD SHX Text
ainP

AutoCAD SHX Text
Window fittings- Fenstergriff- Poigne de la

AutoCAD SHX Text
fenétre- Maniglia finestra- Manilla- QALpainP

AutoCAD SHX Text
1

AutoCAD SHX Text
QALp

AutoCAD SHX Text
ainV

AutoCAD SHX Text
Window fittings- Fenstergriff- Poigne de la

AutoCAD SHX Text
fenétre- Maniglia finestra- Manilla- QALpainV

AutoCAD SHX Text
1

AutoCAD SHX Text
QAF2

AutoCAD SHX Text
40Zn

AutoCAD SHX Text
Window stop- Fensterfeststelle- Crémaillere-

AutoCAD SHX Text
Fissativo finestra- Fijador de ventana- QAF240Zn

AutoCAD SHX Text
2


Pos SPECIFICATION-STUCKLISTE-NOMENCL ATURE-ELEMENTI-ESPECIFICATION Pes
"FRGLL-4T35"
Window - Fenster - Fenetre - Finestra-Ventana 700x1210 1
ALL-81L 600x1110mm
Window - Fenster - Fenetfre - Finestra-Ventana 700x1210 1
ALL-81R 600x1110mm
Boor - Tir - Porte - Porfa-Puerta 1610x1822 1
f b |L|/|||!!|
1510x1753mm
"SR
_ %,
! L 1
! 1
o © Object name "FRGL4L-4T735" Page 3/3



AutoCAD SHX Text
Object name

AutoCAD SHX Text
Page

AutoCAD SHX Text
"FRG44-4735"

AutoCAD SHX Text
3/3

AutoCAD SHX Text
Pos

AutoCAD SHX Text
SPECIFICATION-STÜCKLISTE-NOMENCLATURE-ELEMENTI-ESPECIFICATIÓN

AutoCAD SHX Text
"FRG44-4735"

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
600x1110mm

AutoCAD SHX Text
A44-81L

AutoCAD SHX Text
Window - Fenster - Fenetre - Finestra-Ventana 700x1210

AutoCAD SHX Text
1

AutoCAD SHX Text
600x1110mm

AutoCAD SHX Text
A44-81R

AutoCAD SHX Text
Window - Fenster - Fenetre - Finestra-Ventana 700x1210

AutoCAD SHX Text
1

AutoCAD SHX Text
1510x1753mm

AutoCAD SHX Text
TU44

AutoCAD SHX Text
-81R

AutoCAD SHX Text
Door - Tür - Porte - Porta-Puerta 1610x1822

AutoCAD SHX Text
1


3900

200

4900

L

L412

bh

3212

400

T0x121

14.1Tm2

161x182.2

103121




3290

4490

AR1

512

5317

537

537

537

512

AR1

AR1

AR1

AR1

AR1

AR1




900

120mm 120mm 120mm 120mm 120mm 120mm LE

NN
= —

i S i e Ny
O/ NW U —J 00

L ad LU £~ U1 O~ —1C0 WO

=

| [0 | 068 | [00% | 068 | [008 1 006

T 003
002
11002
009 010 010 A | 009
009 010 010 1 009
009 010 010 1 009
009 010 010 1 009
009, 010 010 _, 11 009
0093, 010 003, 11 009
009~ 010 010 11 009
009 010 = 010 11009
009 010 © 010 A | 009
009 010 010 1 009
009 010 010 1 009
008 11 008
008 1 008
008 1 008
008 Sla10-1 | 008
04 1=k

386 05 305 1620 05 705 386
4456 vy [0

4700

2331




5x90

900

200 200
M 120mm 120mm 120mm 120mm 120mm 120mm H
a S~ L
19 [ H 1[004 1]005 (_[10p5 1]005 11008 H__ ] 006
18 __H ~ H /003
11 | H | 002
16 | H | 002
15 | H | 002
14 | H | 002
13 | N | 002
12 | N | 002
1 | H | 002
10 | H = 1002
9 | H_| 002
8 | H | 002
I | H | 002
6 | | 002
5 | N | 002
L | N | 002
. 5 i
wall 1 u_q
3 691 691 691 691 3
1 ,w» Ll LL »mw@ LL Ll »¢, 00
® ®
L700
RoR1

2109




21
20

Wall A

E—\NW-PWO\\IOO\D

RBZ-1

3900

3900

|
T~
()
()

[N N N N N R N e N Y N N Y X Y N e
PG G G G G G
RGO GG\ T U

3212

—
()
|
—

3256

A

3500

3x10




3900

RoR?

FaB6-1 RoR?

_A
o
[TT T T T T T T T T T I TTTT]

I I I I I I I I I I I I I I I I I ]

E—\NW-PWO\\IOO\D

Wall B

321
100 4 3256

3500

~
—F
(=1
(=)

A
S5




V 1085 V 1063

1063

135

135

135

135

135

135

RdR

RdR

RdR

RdR

RdR

3920

R RON

Rafter- Sparre- Chevron- Trave- Cabrio

Roof board- Dachbrett- Madrier du toif- Tavola
tetto- Tabla de tejado



AutoCAD SHX Text
1

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
2

AutoCAD SHX Text
RoR1

AutoCAD SHX Text
RoR1

AutoCAD SHX Text
RoR1

AutoCAD SHX Text
RoR1

AutoCAD SHX Text
RoR1

AutoCAD SHX Text
RoR2

AutoCAD SHX Text
RoR2

AutoCAD SHX Text
RoR2

AutoCAD SHX Text
RoR2

AutoCAD SHX Text
Rafter- Sparre- Chevron- Trave- Cabrio

AutoCAD SHX Text
Roof board- Dachbrett- Madrier du toit- Tavola

AutoCAD SHX Text
tetto- Tabla de tejado


5x90

* The specification may vary depending on the specific model
* Die Spezifikation kénnen je nach Modell unterschiedlich sein
* Les spécifications peuvent varier selon le modéle spécifique

* Dependiendo del modelo, la especificacion puede cambiar

* Le specifiche possono variare a seconda del modello

4.5x70

2,5x16
2x2 pcs

Ix20

5x90 \_

28x45




	1. kontrleht FR-EL-PAV-maja eng-ger-fra-ita-esp-nl-no-dk
	3. esileht FR-maja eng-ger-fra-ita-esp-no-nl
	Jody Spets 1 2013.10.17 Piirisalu.pdf
	Sheets and Views
	Model


	Jody Spets 2 2013.10.17 Piirisalu.pdf
	Sheets and Views
	Model


	Jody Sarikad 2013.10.17 Piirisalu.pdf
	Sheets and Views
	Model


	Jody Spets 2 2013.10.17 Piirisalu.pdf
	Sheets and Views
	Model


	Jody Spets 3 2013.10.17 Piirisalu.pdf
	Sheets and Views
	Model





